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myc9800-CL#show processes cpu platform sorted

CPU utilization for five seconds: 4%, one minute: 5%, five minutes: 6%

Core 0: CPU utilization for five seconds: 2%, one minute: 2%, five minutes: 1%
Core 1: CPU utilization for five seconds: 2%, one minute: 2%, five minutes: 2%
Core 2: CPU utilization for five seconds: 2%, one minute: 1%, five minutes: 2%
Core 3: CPU utilization for five seconds: 99%, one minute: 99%, five minutes: 99%

Pid PPid 5Sec 1Min 5Min Status Size Name
20268 19784 99% 99% 99% S 271872 ucode_pkt_PPEO
28292 8568 1% 1% 1% S 1087088 Tinux_iosd-imag
19801 19314 1% 1% 1% S 250064 fman_fp_image
32539 32538 0% 0% 0% S 1692 1inet_gethost
32538 31946 0% 0% 0% S 364 inet_gethost
32507 29493 0% 0% 0% S 5592 confd-startup.s
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Datapath Utilization L
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Data Plane Core 2 Core 3
PP (%} 0.44 0.00
RX (%) 0.00 0.03
T™ (%) 0.00 1.46
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